UNGRES S /RIGE S

WD TR T B B 575 5 (4) el SR L A S T R B AZEFIT, PRI R A M 3 2R T HORIETFHIE FITI T DL FORR S
ML EEITHIEL THD,
e N7 < IXITE, FFFEALERE R O B B OB
” -%E%c:ﬁﬁ)ﬁjé*ﬂm%*ﬂr%@uy%%ﬁ
FERICME 2T — XD AT
MU TR AL R I3 g A BB 1
AT | fhAs) IRk T
A fLH AF44E128 148
JEATHAR AF44E12 A 22H ~ SF64E3 A31H
it F1E AL 2 AKL 5 3EAKL
o] WAEE | EEiEs e T - T P e
(7 53424 ) I N PN R R Ao | P aemg ALeg | | a L]
(M -Bik) “(B)’“‘ (A+B) (M- Fik) ”(B)"“ (A+B) (M - Bitk) ”(B)‘“‘ (A+B)
(g A=t VAN 1011101011438 | 27.401 26,000,000 1.282 | 28.683 PEAL
Py ((ERFS =V AN
7oK ¥ F 4 —
* Fr AR S X 15 6-28-8

2 i) 4 % ¥28, 600, 000 (Biir) ( ¥26, 000, 000 (Fitk) )

¥ E i :d ¥29, 224, 841 (BiiA) ( ¥26, 568, 038  (Bith) )

< N~ SO ¢ =R 1 Y 3 ¥23, 230, 618 (Blir) ( ¥21, 118,744 (Fith) )

filifg LR D EIE 1:1




ATl AL D PR

EFEOL R BRI R WS E SR R
FE AR R s DR

s e EBEORMIT | RO | R

¥ # 4 : AL -5 B g | TR | PIMET Tar A "
(REUTA ) s e, | B ORE | zop | FEEZ T B () i

&U\Hb E'%@ﬁﬁ
a b c d e f=(atb+ct+d)*e 60 (f/g)
B R OB R 55 60 5 7 1.00~0 g= 127
MOBEa P LE b 34 23 1 0 1.00 58.00 27.401

MKATOWTETE BT EBRIC T 27 25 T,



